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Area of trapezium = % (a+ b)h

Volume of prism = area of cross-section x length

(0185-12)

Formula List
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1. (a)
(b)
(c)

(1) Janet buys some items for her office. Complete her bill.

Item Cost
Computer desk £ 85.60
6 box files @ £2.80 each £ lé, 3'0
4 packets of paper @ £6.57 per packet £ 26.18
12 assorted colour pens @ 86p each £ Lb"}l.
Total | £ Eﬂ,

[4]

(i) Janet receives a discount of 5%.
How much is the discount on this bill?

A group of five pupils go to see a play.
The tickets cost £6.75 each.

They pay for the tickets with a £50 note.
How much change should they receive?

i i ?
(1) What percentage of the pattern is shaded?

W W W,
WA A

(i) What percentage of the pattern is NOT shaded?

[2]
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2. A box is placed on a Sand is poured into
scale. the box.

| ‘q— box ‘ [_l‘\/l/ sand
] [ |
|

kg 0

600

500
600 500

Find how much the sand weighs.

921 - 20 = K40

(0185-12)
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The above shape is drawn on a square grid.
By counting squares, estimate the area of the shape if each square represents an area of 5cm?.

T"sqvw%wfwlr-%fcml
B L B R

(0185-12) Turn over.



4.

(0185-12)

(a) Write down the special name of the straight line shown in each diagram below.

S

(b) Write down the name of each of the shapes shown below.

(2]

(3]
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(¢)

(i) Draw a line perpendicular to PQ that passes through R.

o

r»””“*

(0185-12)

(i) Measure, in centimetres, the length of the line PQ.

Length of PO = /Hg' cm

/?/W\,

o
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5.

A list of numbers is made by using the formula

Value of the Number = 5 X Position of the Number + 6

(a) Find the Value of the Number when the Position of the Number is 9

(b) Find the Position of the Number when the Value of the Number is 121

M SeP

o
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6.

The picture shows a ‘bendy bus’ with a man standing beside it.

(0185-12)

Showing all your working, estimate the actual length of the bendy bus.

b Az W
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7. On the squared paper below, plot and label the points A(-3, 5), B(5, -2) and C(-4, -5).
(3]

k e X

S I i

8. Bryn hires a floor sander.
It costs £37 for the first day and £18.50 for each additional day.
Bryn’s total cost for hiring the sander was £129.50.
For how many days did he hire the sander?

(0185-12)
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9. (a) (i) Geoffis¢cm tall
Jill is 6 cm taller than Geoff.
Write down, in terms of ¢, Jill’s height.

N - < -

(i) Concrete blocks each weigh w kg.
Write down, in terms of w, the weight of 10 blocks.

(1) Mary is x years old.
Write down, in terms of x, her age 5 years ago.

(b) Use the formula ¥'= U+ 107 to find the value of ¥ when U=20and 7 =9.

zlm 40

10. (a) Hywel and Janet go on holiday to the USA.
They change £1300 into dollars ($) when the exchange rate was £1 = $1.55.
How many dollars did they get?

(b)  On their return they have $363 left over.
They change this back into pounds when the rate of exchange is £1 = $1.65.
How much do they get in pounds?

0185-12
L Turn over.
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11. The ages (in years) of the 8 members of a team are as follows:

23 27 45 24 33 34 21 41

(a) Find the median of the ages of the members of the team.

e

(b) Find the range of the ages of the members of the team.

(¢) (1) Find the mean age of the members of the team.
Ly = .

(i) One evening a member of the team did not turn up.
The mean age of those that were present was 29.
What was the age of the member who did not turn up?

(0185-12)

Examiner
only

]




13

12 [a)
(2]
(b) (i) Complete the following table, giving values of y = 5x + 1, for values of x between
—1 and 2.
% -1 0 1 2
y=5x+1 -4 1 4 11
g.l
L)
(i) Draw the graph of y = 5x + | on the graph paper below.
[3]
A
e oy e W e
L
|
7‘ 8
| |
|
| ~4 .

B

EASHSSPIET, SRS ENUICY, I SIS I RN S SRR SN I .
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13. The sum of seven, single digit positive whole numbers is 17.
Six of the numbers are equal.

What is the other number?

6¥ = 1E

BT .

Pyl 14202624000 4] 21F

14. Five identical rectangles fit together as shown.
What is the total area which they cover?
Write down the units of your answer.

e 1 —=|— 99—

18 cm

Diagram not drawn to scale
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15. (a) Solve the equation 4(6x-7) = 32.

(b) Solve 4x-7<5.

(¢c) Simplify m® x m®.

(0185-12) Turn over
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16. The number of beans in each of 200 packets were counted.
The table below shows a summary of the results.

(a)

(b)

(0185-12)

Number of beans per packet | Number of packets

20 to 38 30

39 to 57 42

58 to 76 50

77 to 95 78

One of the packets is selected at random.
What is the probability that it contains

(i) 20 to 38 beans,

30

30

(i) 58 to 95 beans?

Which is the modal group for the number of beans per packet?

RS

[1]
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(¢) On the graph paper below, draw a grouped frequency polygon to show the distribution
of the number of beans in a packet.

Mo of Packeds

pt——t——1=

(0185-12) Turn over.
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17. (a) Mrs Ridgley is considering changing her electricity supplier from B Line Utilities to
Domestic Utilities.
She usually uses 2400 units each year.
She has found the following information.

B Line Utilities:
standing charge 15.07p per day
cost per unit 11.51p

Domestic Utilities:
standing charge 15.82p per day
cost per unit 11.32p

Should Mrs Ridgley change her supplier?
You must show all your working and give reasons for your answer based on the
possible savings made on her yearly bill.

—

. Cob o shodiny chorp z 36T dop X f0150F
C’*oﬁth*iuw‘*£01151=£2761Lf

S0 o Bl vk Bliv . 2WIn4ST 015 fryar
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(b) Mrs Ridgley finds out later on, that VAT at 5% is payable on the cost of the standing
charge and the units used.
Would this affect her decision? You must give a reason for your answer.

M" L.n8 H\"S% ey plw«)\ L l901’\\ e Hﬁ A»ﬁ,},\pa RALD
Hﬂ }C\WWM SU/“;;L B Semz

18. Aaron bought a bike for £600 on 1st February 2010.
Every year the value of the bike depreciates by 12% of its value at the start of the year.
Find the value of the bike on 1st February 2012.

e towe 012 x g0z £33
TMA'\)@?QO“W'U'\ _6oo - 77— fS' -'25’

iy a«_4 Fo,b loll worl-L 5‘7_57 6“5 lé ZL{ 64 gq

o
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19. A circular photograph is placed in a square frame as shown in the diagram

)

3’(_\ rs Ll' (o~

G’, p —F
Diagram not drawn to scale

The diameter of the circular photograph is 8 cm,
Calculate the shaded area.

P
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